CUET Mathematics Solved Paper-?zozz

iegd 2T Yal
Ifthe matrices & 0 then the value

Xetidraind
of x and y is equal to:
@) =2y~ b x=-2,y=-1
(© x=2,y=-2 @ x=2,-2,y=rl
Match List-I with List-IT
List-I List-II
A A=A, L  Symmetric
then matrix Ais
B. IfA'=A,then L A%
matrix Ais
c @AY= m BA
D. (AB)%: IV. Skew-symmetric

Choose the correct answer from the option given below:
@ A-IV,B-LCI,D-— I

(b) A-IV,B-LCI, D-III

(© A-LB-IV,CILD —~III

(@ A-LBIV,CILD -II

For what value of k the following system of
linear equations is:

kx+3y+3z=5;x-2y+ z=-4

3x-y-2z=3
has no solution?
() s kd b) k=6
©) k=3 d k=-6
2 d KL N

Ife¥(x+1)=1and g—}zi = (—X) then the least positive

dx X
integer 'k' is equal to
@ Ui 02 © 3 (d) .4
The tangent to the curvey = ¢2% at the point (0, 1) meets X-
axis at: :

: 0
@ O LA T
© @0 @ 62
The interval on which the function
fix)=-2C- 92—~ 12x+11s inereasing, is:
@ 2D
(b) (-1, )
© (o, 2UEL®)
@) (o,-2)
X s TG i
If dx = f(x) and solution of this integral is
joyr=tt®

f(x) = A(x -1 +Byx-1 +C, then which of the
followings are true? :

10.

11.

12.

13.

Held on 22 August 2022

2
®) A=7,B=2

o —

3
A) A==,B=
(&) A=7.B

© A= —§-,13=—2(D) 1£(2) =0, then C= -

3
€ Iff(1)=0,thenC=1
Choose the correct answer from the option given below:

(@ A,Donly (b) B,Eonly
(¢ B,Donly (@ 'D,Eonly’ -
[obe=5lax =

25 : 26
@ . & 5L B 0

The area of the region bounded by the curve
y=\x—1\andlinex=0andx=21nﬁrstquadrantis

@) {2 £ @RI 1 i) 3 @ 1
Match List-I with List-IL »
List-I List-IL
Differential equation Degree of
differential equation

2. \2 2
iy} (o) (&) 1
dx* | \ds dx
3
dy) (d?
R
d?y (dy]2 - '
e L4 BREIS 0
C [dxz)+ = m 4
4
d’y dy'
0 (3‘) *2{?&)

Choose the correct answer from the option given below:
(@) ALBILCIV, D-1I
) AIV,B-ILCL D-IL
(¢) A-LB-V,C-1LD-I
d) A-ILB-LCL, D-IV ‘
The differential equation representing family of curvey=
ae™* + be™ is
(@) y'—(m+n)y +mny=0
(b) ¥'+(m+n)y +mny=0
© ¥'—(m+n)y-mny=0
) y'-(m+n)y+y=0
Two dices are thrown simultaneously. If X
denotes the number of sixes, then the expectation of X is

P 1 oy gbok

& 8 e85 (O,

In 2 binomial distribution b(n, p), ifn=10and q=0.7,then
its mean is

@ 7 B3 @ 30-1@ -1

V3
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14.

15.

16.

17.

18.

19.

20.

Arrange the steps of solving linear programming problem

of two variables x and y is referred as "CORNER POINT

METHOD" for a bounded region

A. Evaluate the objective function z = ax + by at each
cornet point.

B.  The corner points is determined by solving the

equations of the lines intersecting at that point.

C.  Find the feasible region by drawing graph using
constraints of LPP. :

D. When the feasible region is bounded M and m are
the maximum and minimum values of z. ‘

E Let M and m respectively denote the largest and
smallest values of evaluating from
z=ax + by from all of the corner points.

(@) A-B-D-E-C (b)) A-C-D-B-E

(¢ C-B-A-E-D (d) E-A-B-C-D

The corner points of the feasible region, determined by the

system of linear inequalities are (0, 0) (5, 0) (3, 4) and (0, 5).

Letz=2x +qywhere q > 0. For what value of q the maximum

value of z occurs at both (3, 4) and (0, 5)is

2
@ % (b 1 @ % -4 C
Let R be the relation in the set {1, 2, 3, 4} and given by
R={(1,2),(2,2),(1,1),(1,3),(4,4),3,3),3,2)}.
Choose the correct choice
(a) Ris reflexive and symmetric, but not transitive
(b) Risreflexive and transitive, but not symmetric
(c) Rissymmetricand transitive, but not reflexive
(d) Risanequivalence relation
Which one of the following functions is one-one?
A. f:R—> Rsuch that fix)=x>
B. f:R-— Rsuchthatfix)=3x+2
C. f:N—> Nsuch that f{ix)=x>
D. f:R—Rsuch that f(x) =[x], where [x] is greatest
integer <x
(@) AandConly
(c) CandD only

(b) BandC only
(d A,BandConly.

The value of tan™! [2(:05(2 sin”! —;—ﬂ is

T T
©°7 " Ongvio@

X sin® cos0

(@ =

oA

The value of [-sin® —x 184 -e
cos 0 1 X
() independent of @
(b) dependent of 9
(¢) equal tox?
(d) depend on both ¢ andx
One branch of sin~'x other than the principal value branch

corresponds to:
n 3n
® |35

o [£ater u [28

(@ [m, 27]

21.

22.

23.

24.

25,

26.

I 2
0 is 2 % 2 zero matrix, then choose one of the following
correct option given below:
@ A2-4A+I1=0 (b)) AZ+4A+I=0
(©) A2-4A-1=0 (d) AZ-4A+20=0
The function f{x) =[x], where [x] denotes the greatest integer
function, is continuous at
@2t (b O © 2 a2l
The points of discontinuity for the given function f
:R — R defined as

2.3
IfA= { } where I is the identity matrix of order 2 x 2 and

2x=—5"12<x<3
f(x)=42, J<xc S

5%, Sk <7
(&) 2 B © 5 )
(@ AandBonly (b) BandConly
(¢) CandD only (d AandD only

The function f{x) = [x — 1| +|x—2| is not differentiable at

® 2 0%

®) 1 -

® 4
() AandBonly

® 2

(b) AandConly
(¢) CandD only (d DandE only
A window is in the form of a rectangle
surmounted byan equilateral triangle. If the perimeter of
the window is 10m. Find the side of triangle to admit
maximum light. Write the steps to solve this problem in
correct order.
A. Assume side of triangle as x and other side of
rectangle as y
B. Write perimeter: 3x + 2y = 10 and area (A) =xy +
V3,
e
4

€ . Put =0 to get value of x

dx
. . dA
D. Writearea(A)in terms of x and find e
d’A e
E Check —-<0 at value of x. Then x is required side

= hdx
of triangle

Choose the correct order from the option given below:

@ A,B,D,C,E (b) B,A,C,D,E
(¢) B.DACE @) A,B,C,D,E
_[ e sinx dx =

22X
@ (2sinx —cosx)+C

2x

®)

(2cosx —sinx)+C

eZX
© T(Z sinx +cosx)+C

2x

@

(2sinx —cosx)+C
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27. Match List-I with List-IT 4 CORR &
List-1 List-II 32. 1 Jy =37 4% =7, then the value of a is
: 1+sin” x 4
A. j ——dx I cos™' (i) +C bis T T
200 & b 5
A%y a (@ 1 © 4 ©) > d 3
=1 e 33. The solution of differential  equation
e e e xydy = + )i is
; @) $=49b§00 (b) ifﬂ@g;
A% 1. e (© =xlog (Cx) (d) =2x*1og(Cx)
C I 70 3 L | =got ( a) +C 34. Match List-I with List-IT
. List-I List-IT
ST VS anesl 1(_ 1
= j Ju? 2 x% IV ( a) g A. The distance of I cos™! (E)
Choose the correct answer from the option given below: .
@ A-LB-IL,C-II, DIV g‘e point (3, £,2)
(b) A-LB-IL,C-TV,D-II S el
(c) A-II,B-IV,C-II,D-I B. Angle between two 1. /34
(d) A-IV,B-IL, CIL,D-1 diagonals of a cube is
28. % e R C. Projection of g=14 3 +k 1L cos™ (—%)
0 1+tan"x
et Pl < e on vector b=2i-j+k is
G e v(C) = s nimie180] 2
29. Write the values of the following definite integration in D. Anglebetween a=~i—j+k IV. 3
increasing order e
n ' and b=1i+j+k is
A L)Z sin’® x dx Choose the correct answer from the option given below:
. ‘ @ A-ILB-ILC-IV,D-I
B. Izlog(4+35mx)dx (b) A'_I\/aB"‘LC—IHaD—II
0 4+3cosx (¢ A-I,B-LC-ILD-IV
. (d A-ILB-LC-IV,D-TI
’ J-g 1 = 5 Il xe"dx 35. The shortest distaqce ofthe point (3,2, 1) from the plane
: %1+ [tan x 2y x+2y-2z+9=0is
Choose the correct answer from the option given below: (@) & () 12 © 2 @y’ b2
@ B<D<A<C (b D<B<C<A 2 : : ;
(© B<A<C<D @ B<C<A<D 36. Arrange the distance between the following planes to the
' planex +y-z+2=0in ascending order:
30. J'dez A x+y-z+5=0
sinx B. 2x+2y-2z+5=0
(@) xcos a +'sin o log(sinx) +C C. 3x+3y-3z+9=0
(b) xcos o —sina log(sinx)+C 1 T
() xsin o +cos o log(sinx) +C D. —2—x+ -2—y— -2—z+1=0
(d) xsin o —cos o log(cos x)+C : ’ :
31. Arrange the value of all integrals in its ascending order g)xooz gxeé: og SR fr(obI;x thg ogﬂgniglven o
i 4 sin® x i (© BADC (d D,B,AC
" 90 gin*x+cos x el v e
37, If a line = =—= intersects a plane

() C<A<B<D

L ins 4
B. j-lsm xcos xdx

Ju/i dx
1 faxt . :
Choose the correct option answer from the option given
below: :

(@ A<B<C<D

D. jszdx

() B<C<A<D
(d D<C<B<A

2x —2y+z=0at point P, then the distance from point Pto the
origin is: :
(a) 3 units (b) 5 units

(c) 7 units (d 242 units
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i
38. IfA and Bareindependent events such that P(A) = 2 and

1
P(B)= 7, then P(AVB) s

1 isipfnd 1 noijplos 1
B 03 © gatig ‘
39. A random variable has the following probability
distribution:
b 1 2 3
1 §
PX=x) k ) 6k 4 k
Which of the following statements are correct?
1 ; 1
A. k=7, .B.P(X—3)-z
& <2—-1—1 DP1<X<4’§
. BT P(I<X<4)=
1
E.PX=4=3
@ AB,E only () B,C,Donly
(c) B,Donly (d D,Eonly

40. In a linear programming problem, Maximize
z=23x+ 9y, the corner points are (0, 10), (5,5), (15, 15)and
((),20),zismaximumat

A. (0,10

B (59

¢ Fs,19)

D. (0,20)

(@ AandBonly (b) AandConly

(¢) BandConly (d) CandDonly

Passage

Rahul went to a park with his younger brother and observed
that park is circular and a pavement

running around it. He asked the gardener about the radius of the
park and found it to be 15m. And the pavement is 2m broad.
Answer the following questions based on the above
information. s
41. Theareaofthe circular park, using integration, 18 given by
15 '
(a) J. 225 x% dx (b)
0
1 15

© 4]5\/225—x2dx (@ 4j 15-x% dx

: 0 0
42. The integral y225- «2 can be solved using the formula

2
(@) e Shé —%—10g X+ Vx> 4
X+\}X2 +a2

2
2
Jx2 +a? +9-2—10g

15
j 15-x? dx
0

+C

| %

®) +C

<
-~

@

T ST
o

43. Thearea of the pavement running around the circular park,
* yusing integration, is given by
17
(@) 4] 17-x* dx
0
17
() 4[v289-x" dx

0

© (415 17-x* dx}—({f 15-x° dx)

@ [4? 289-x2dx)—[4lf izs—xzdx]

44. The area of the circular pavement is
(@ 289w sq units (b) 225msq units
(6) 514m squnits (d) 64m squnits

45. Ifthe gardener wishes to put manure at the rate of % 50/m? in
the circular park. Then find the approximate cost of manuring

(@) ¥8338 (b) 8338
(c) %4710 (@ T35325
Passage

Ram purchased 2 gift which is in the shape of a
tetrahedron. 'Let A = (1, gi iyl =2 3, 5
B3, 1, 0 ad D=4 3 1be the vertices of the
tetrahedron. ;
Based on the above information, answer the following questions

46. The vector AB is

@ i+] ) abiek
© i-] @ j+k
47. The vector CD is
@) 2§+23+3f( ®) 1+23+f<
© i-j+k @ i-2j-k
48. The area of AABC is equal to
J13 V5
- ® =
J7 NiTl
SN d SLEE
0. ()] 5
49. The unit vector along CD 18
hiaeaan A Tt
(a) —\/_E(HZJH() (b) —J—g(l—3]—k)
© =2kl @ 2 (i-3)
e J2
50. AB.CD is
@ -1. 0.1 © 3. @ 3
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Hints & Explanations y

1-22 2y a3 @l e (1)
j G = = Required point =| ——,0
- L+5 0} [7 0 p 2
So,x+5=7 = x352 6. @ Given,f(x)=—2x-9x*—12x+1
and2y=y—1 = y=-1 £ (x)=—6x?—18x-12
2. EI;A)) gj’:;A :>AA is skew symmetric For increasing of f; f” (x)>0
'=4 = Aissymmetric 2
e i = —6x*—18x-12>0
© =) ~ L
(D) (4By=B'A' (Reversal law) = x“+3x+2<0
3. (@ Given, = (x+2)x+1)<0
kx+3y+32=5 o R s
x—2y+z=—4 ! {
3x—y—2z=3 9 e |
So,xe(-2,—-1)
P , . .
For nosolution, |1 -2 1 |=0 . ® Smce,j ’_-x—ldxzf ()
ST : Letx—1=# = dx=2tdt
= k@+1)-3(-2-3)+3(-1+6)=0 S41
= Sk+15+15=0 = k=6 = [F=tr=|—2ud
% oo
5 3 3 3
and Dy =|-4 -2 1 :2j(t2+1)dt=2[—t3—+tJ+C
3 w2 4 :
2
—5@+1)-3(8-3)+3(4+6) f(x)=—(x—1)3/2+2\/x~1+c
=25-15+30
D1=4O¢0' So, A~% B =2
So, k=— 6 for no solution ) 3
: Iff(2)=0 = SJ12.0:0=0= € =55
4. () Given, @ (x+1)=1 3 3
y+h@+D)=ln(l) = y=-lnGx+1D) Iff(1)=0 = 0+0+C=0 = C=0
‘ 5 5
e v 8. @ jolx—sldx=—j0(x—5)dx

9. (d Graphofthe given curves

2

d* y [dyj

T .So0, k=2 .

d?  \dx :

5. () Giventhecurvey= il \
NOW dy = 262x
dx

At(0,2), —y=2x1=2 3
Since, equatlon of tangent line

y-1=2x-0) = y= 2yt : ; :
Required Area = —x1x1+—x1x1 o n R |

1
At x-axis,2x+1=0= oy 2 2 2.2
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10. (c) (A) Degree=2, (B) Degree=3 . 1
(C) Degree=1, (D) Degree=4 =tan™' [2 cos (—ﬂ =tan”! (2 x—)
11. (@) Given,y= ae™ + be™ 3 ’
Now, y' = ame™ + bne™ L D e d
" = amke™ + bn*e™ e o

12.

13.

14.
15.

16.

17.

18.

Since, y'' —my' — ny'
— gmle™ + bnle"™ — amPe™ — bmne™
_ amne™ — bn?e™

=— mn (ae™ + be™)
= y”——(m+n)y'+mny=() :
® Since, E = {(1, 6), (2, 6)y;i(3.6) 4 6
5,6), (6,6),(6,1),(6,2),6,3), 6,4, 6,5}
Let E, =6 coming at exact ones

E,=6 coming on both dices

10 1
.So, P(E))=—, PE)) =7
(£1) 36 (Ep) Y

So, expectations = 1 ?13% ol —L = l

(©) Given, n=10

Since,pt+q=1 = p=1-07=03

So,mean=10x0.3=3

©) C-B-A-E-D _

@ Now, Z(o, 0)=0, Z(5,0)= 2.5=10
Z(3,4)=6+4q, Z(0,5)=5q

Since, Z3 4)=Z(0’ 5)

= 6+4g=5q = q=6 ;

(®) Given, R = i1, 2 2 (k1) Gl 3y,

4,4),3,3),G, 2)} and4={1, 2,3,4}

v xe A, xRx=>Ris Reflexive Relation.

Since, 1R2 ;5 2R1=>Risnot symmetric.
Foranya, b,c €4, aRb, bRc = aRc
= Ristransitive.
®) Given, (A) /() =x2, fiR—>R
For one-one, /(%) =f (x,) (Let)
= x12 =x% = x=%x
Sof(x)= %% is not one-one.
®) f(x)=3x+2,f:R~—>R
Letf(x1)=f(x2)::>3x1+2=3x2+2 DX =X,
=> f(x) is one-one.

©) f:N->N, fx)=x*

Let f(x)= f(xz)::xl2 = x% =X =X
= f(x) is one-one.
®) /=K, fiR=>R
Since, 1(0.5)=[0.5]= 0,f(0)=[0]=0
= f(x) is not one-one.
@ Given,

s (2] o]

19.

20.

21.

22.

23.

e
. —<sm

o sin® cosO

@@ Given, |-sin® —x

cos 0 1

1

X

— x(~x* ~1)—sinB(~xsin0—cos®)

+¢0s0 (xcosB —sin6)

3 i i
=-X —x+xsm2 9+sm€)cos€)+xcos2 0

=—x9—x+x-1=—x3

@ sin"lxe{—E E]
S 2

1x$£
2

So, other branch is
21t—£ < sin'1 s 2n+£
2 2

B et
2 2

5 3
@ A=L 2}

- —sinBcos O

And’A2=23 g 2l e g
T e
2
44=4 L

1 2 142

Now, A2 —44+1

i e

@ =[x

Since, the greatest integer functi

integers.

®) f:R——)Rdeﬁneas,
Ix-5.2<x<3

fx)=3 2 3K0ed
5% S=x<

Atx=3, f(3)=2x3-5=1

f3)=2

Function discontinuous at x = 3

Atx=5,

f6)=2
f(5)=5x=5%x5=25

Function discontinuous at x = 5

So,3,51s discontinuous points.

oo

00

on is discontinuous at
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24. (@) Iffx)=|x-a|
then f(x) is not differentiableatx =a

25. (a) A= Assume the sidesx,y
B =Write perimeter and area
C=Equate area to zero
D =Derivate the area
d*4 L
E = Check Eﬂ_ < 0 at critical points.

26. (@ Let]= j e sin x dx

I (J. Tl dx)sinx—j.(cosx- jezxdx)dx

2x X X
I=sinxf—— é—cosx+j sinxfz—— dx
2 4 4

. e2x e2x I
I'=sinx ———COSX——
4 4
577 5, {sinx (COSX
= =t |i—=
4 ( T ]*C
2o

= I=e—5—(2sinx—cosx) +C

27. @ By using formula of integration
A—>IV,B->ILC—-IL, DI

(d) is correct answer.
/2 :
28. (C) Let J = J __CPC____, put tan x = bt
o ¥ tan” x cosx
/2 5
CoS: 1
I= dx a1y

o sin” x+cos” x
By definite integral properly

/2 cos”(’[t x)
R L
= =

0 sin” [g = x) +cos” (—725 i x)

/2

in" i
e I__;,qux (1)
o €os’ x+sin” x
Add equations (i) and (ii),
2y ain /2
= I cos” x+sin” x . _ jldx
0 cos” x +sin” x 0
LN s
2I=[ x ]0 1ol 1 TG
29. @ (A) Let
/2 /2
I= ‘[ sin® x dx = j.(l—cosz x)zsinxdx
0 0

Put cos x =t = —sin x dx = dt

0
= I= —j(l—zz)zdt=l-3+,1=—8.
: .

/2 !
®) Let I= | 1og(ﬁi§‘—’5’—’ijdx
0

4+3cosx

72 4+3sin(g—x)
= .[ log| ————% |dx
0% 4+3cos(£—x)
2

/2
0

4 +3sinx

/2 :
. J- 10g(4+351nx)£4+309sx)dx
4 4+3cosx )\ 4+3sinx

dx

/3
o ‘/“ \]COSX
n/6VSH’1x+ COS X

'/3 cos(ﬂ+7t x)
" Uik
6 3
- _" o
6 |sin| Z+Z—x |+ cos[E%E—x
: 6 3 BN 63
1 sin x
=J= | ——————=dx
n£6«/cosx+ sin x
/3 (Jcos x +/sinx
=] = ( )dx=§—%

6 AJcosx ++/sinx

: Jelsar T T
= I—’:— —_——— = —
21 3.6 12
1
D) Let1=_[xex dx
0
1
= I=xex——jex dx
0
= 1=l[xex_ex}(el—el)—(()—l)=1
0
So,D>A>C>B
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30. @ [ - ;(w)dx

31.

32.

33.

sinx sin x

= jcosa dx+fcotxsina dx

= xcosa+sina log (sinx)+C

. sin4x
t Wisl= | —r=—g &
0 sin® x+cos X

/2 sin4 (% - x)
o j dx

0 sin4 (E - xj + cos4 (E - x)
2 D

2 cos* x
= I= dx
J(; sin4 x+cos4 X
Now,
n/2 4 ;o /2
(cos” x+sin” X) T
9= (e0n s Sy ideE—
j cost x +sin? x ‘([ 2
i
=l
4

B) Letf(x)= sindx cos*x
fx)=—sin’x costx =—f(x)
1
So, j sin® xcos* x =0

© LetI=| :

dx=E
01+sin X 4

sinx=t:>cosxdx=dt

dt =
(& =t
1+t

I= [tan’l (sin x)]z =tan”! (sina) -0

abihe i Nt
tan 1(sma)=z ='sin(@)=1 = a=%

fi)/—__x2+y
@ 5w
Let y=Vx = -———V+x%

L et
AR

dx Vit
a¥ 14V Al
= Vo o
dx v "
= VdV=£x—
X

V2 y2
= —?zlogxﬂ—logc => —5=1ogcx

3

34. (2 (A) distanceof(3,4,5) L (0, 4,0)is
d =«/(3—0)2 +0+(5-0)2 =34
®) Bo1I

(C) Projection =—— - _%

®) COSB:\S‘-leF% = 6=cos'1(—j

35. () Giventheplane,x+2y—2z+9=0
Now, required distance .
_\3~1+(—2)‘2+1-(—2)+9\
Ji2 + 22422
|5-4-249| 6
© J1+4+4 3
36. () Giventheplanex+y—z+2=()

(A) Theplanex+y—z+ 5=0
So, required distance

|5-2] £ B0 3 it

J12 15510 N

(B) Theplane x+y_z+_§_=0

=2 unit

So, required distance

5

=

\2- T R
e Lol =——amt
il 2B o0

© Theplaneisx+y—z+3 =0
So, required distance

Al S8 5
= =—=—_ \nt
Ji+1+1 =
D) Theplaneisx+y—z+2=0
So, required distance

2-2

- \ \ —QunitSoD, B,C, 4.
Ji+1+1
x—4 y Z+‘2

37. (bonus),Let ——="= =1

o x=2t+4,y=3t2=4t-2
Now, 2 (2t+4)—2(30) +4t-2=0
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38.

39.

40.

41.

= 4t+8—-6t+4t-2=0
= 2t+6=0 =>¢t=-3
So, the point is (- 2,— 9, 14).

Now, required distance

= J(2)% +(-9)* +(-14)?
~ J4+81+196 =+/281 unit

() Given, P(A)=—lj, P(B)=%

Now,

P(—é:) _P(4'nB) _1-P(AUB)
B e} 1-PEB)

_1-(PA)+P(B)-P(ANB))

ot
2

2(1 l-lJrlx"l) _3
470 4. 4
©) (A)WeknowP(x 0<x<4)=1
= k+— +6k+4k+k L= 12k—~—

= k=—
16

®) P(x=3)= 4x116 S

o} 1 S
Bv Dbt e
©) PO =By i it

D) P(1<x<4)=6k+4k—10k—i—%_§-

1
B PG=H=k= %

@ Given,z=3x+ 9y
Now, Z(0,10)=0 +9%x10=90
Zs 5)= 3.5+9.5=60

Zy15,15=3-15+9.15=180

Z,0,20)=0+920=180
(¢) Equation of circle, x* + 12=(15)?

x=15sin0, dx =15cos0 db

A =4]Vr2 —x2dx wherer=15
0
15

A=4 V225 xtdx
0

42.

43.

44.

45.

46.

47.

48.

49.

50.

(¢) Byintegral formula

2
j\/dz -—x2dx=—J2C-\]a2 % +-‘-Z-2—-sin'1
then, _[ 225—x2dx=%\/225~x +-2—i—5-s1n"1 z

15
@ Area of pavement = Total area — area of park

17 15
=4j 289—x2dx—4j 225 x%dx
0 0

17 15
@ A=4] V289~ xPdx -4 225-x%dx
0 0

A =289 1—225 1= 64 1 sqg. units
d Area of park =225 1sq. units
Total cost is = 225 1t x50 = 35325,
@ A=, 20, B=2,3D
AB-F-3=0 L D=i+]

® CT=G 1 0, D=(4 3 1
CD=D-C=q, 2 D=i+2j+k

@ AB=i+j,BC=i-2j-k

Area=l‘;1_§xfal
2

iy X L :
.___ll 1 0 zl("j+l“3k)‘ — \[ﬁ
2 2 2
1 -2 -l ;
§+2}'+I€

@ CD=i+2j+k = \65\:

J6
()] A—E=f+}', 55=§+2}'+fc

— AB-CD=(1+2)=3
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